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House/Ending Calculation

Get the Shillong Teer 1 month's previous results.

For example, you want to play on Monday. For this, you need to check the F/R and S/R of the previous Monday. Let’s say
FR is 09 (House = 0, Ending = 9) and SR is 33 (House = 3, Ending = 3).

Therefore, there are high chances of any one or two numbers being picked in this game on Monday. So you can consider
0,9,3,3 as F/R and S/R house and ending.

Formula no. 2

House/Ending Calculation

In this formula, we add the date of the day for which we want to calculate the target number. For example, you want to
calculate the house/ending for September 20", now; we will add date i.e. 2+0=2.

We know that the value of 2 is 7, so we can see in the below table that 7 is the house of F/R.

From September 20th to September 23rd, we will compute:

Date F/IR S/IR Calculation | Outcome Value
20" Sep 75 81 2+0 2 7
21% Sep 70 69 2+1 3 8
22" Sep 42 77 2+2 4 9
23" Sep 02 55 2+3 5 0
24" Sep 88 69 2+4 6 1
25" Sep 34 45 2+5 7 2

As we can see, the value of each calculation either resulted in a house or an ending to the same day’s result. The ratio of
success is 4/6. Which means you can get a 60% to 70% success rate by applying this easy formula.

Formula no. 3

Calculating the Direct FC

We add the previous day’s F/R to calculate the direct FC for the next day. For example, we want to calculate the 24th
of September. So we will add the F/R house/ending of September 23™. For more understanding, see the below example.

Date FIR S/IR Calculation | Outcome Value
20" Sep 75 81 7+5 2 7
21% Sep 70 69 7+0 7 2
22" Sep 42 77 4+2 6 1
23" Sep 02 55 0+2 2 7
24" Sep 88 69 8+8 6 1
25" Sep 34 45 3+4 7 2

For example, we will take the ending of the outcome. 7+5=12. We will only consider 2 and the value of 2is 7. So 2 and 7
will become the direct FC for the next day.

Hence, from the above table we calculated the direct FC for September 24™ i.e., 2|7.

Formula no. 4

House/Ending Calculation

Here we will add the S/R of today’s result to predict the H/E for tomorrow. Now see the example.

Date FIR S/IR Calculation | Outcome Value
20" Sep 75 82 8+2 0 9
21 Sep 70 69 6+9 5 0
22" Sep 42 77 7+7 4 9
23" Sep 02 55 5+5 0 9
24" Sep 88 69 6+9 5 0
25" Sep 34 45 3+4 7 2

Explanation

In the chart we take the S/R of 20" Sep and sum the H/E. i.e. 8+2= 10. Now we will consider last digit which is 0 and the
value of 0 is 9. As we can see the result of 21% Sep, 0,9 came in ending of F/R and S/R.

Hence, we got 3/5 results correct. So the H/E for 25" Sep will be 7|2. Therefore, this is another best formula to calculate
house/ending for the next day.
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House/Ending Calculation

This formula is based on two assumptions.

Assumption no. 1: Take the value of 0 = 1.

Assumption no. 2: If the sum exceeds 9, consider the last digit as the outcome. i.e for 10 take 0 only.

Here, we want to calculate the formula for September 25". So the advanced date would be September 26" and the past date
would be September 24™.

First Step:

The F/R for the 25th is 47, and the S/R is 66.

Now take the digits of the previous date and combine them with FR and SR. The number would be 254766.

Second Step

Continue adding the first and second digits until we get the final single number. As discussed above, we will consider the
value of 0 to be 1 and take the last digit of the sum.

Therefore,

Calculation A

254766
79132
6145
759
2 4
6

The final result is 6, and the value of 6 is 1.

Third Step

Now we will again perform the same calculation, but this time we will consider the value of 0 to be equal to 0. .

Calculation B

2547606
79132
6045
649
03
3

The final result is 3, and we all know that the value of 3 is 8.

Fourth Step

Now take the second last digits from the calculation (B) and subtract them. E.g., 0-3 = 3. The answer is 3, and the value of 3
is 8.

Final Step

Now we will combine all 3 calculations along with their value.
Calculation A =6,1
Calculation B = 3,8
Calculation C = 3,8

Hence Your house/ ending for the 25" September is 6,1,3,8,3,8.

%
%
%
Calculation C g
%
%
%
%
%
%
%
%



Ve Vo Vo Vo o Vo Vo o Yo Vo Yo Vo Yo Vo Yo o Yo Vo Yo o Yo Vo Yo o Yo Yo Yo Yo Yo Yo Yo Yo Vo d

’7

House/Ending Calculation

This formula is super simple. We will put the value in the F/R of the previous day’s result. See the below example.

Date F/IR S/IR F/R House | F/R Ending | New H/E
and Value and Value
20" Sep 75 81 7|2 5|0 2|0
21% Sep 70 69 712 0|5 2|5
22" Sep 42 77 419 2|7 9|7
23" Sep 02 55 0|5 2|7 5|7
24" Sep 88 69 8|3 8|3 313
25" Sep 34 45 38 419 8|9

Explanation

In this table we can see that the F/R of September 20" is 75. So we take the value of 75, i.e., 7|2 and 5/0. Now we have a new
H/E which is 2]0. As we can see, the result of 21* Sep 0 is the ending of F/R.

The success of this formula is good. This means that you can get at least three guti in a week.

Formula no. 7

House/Ending Calculation

For this formula, we will take the exact one weak earlier F/R result. Let’s suppose we want to calculate the F/R and S/R of
September 26", Monday. For this we will go to the result of last Monday and take F/R of 19", i.e., F/R 60. We will also take
the F/R of 20" September i.e. F/R =75.

Now

19" Sep, F/R = 60

20" Sep F/IR = 75

Now keep the 6 and 7 in the house and 0 and 5 in the ending, i.e.,
House 6|7

Ending 0[5

Since the result of the 26th of September is F/R = 34 and S/R = 45, we can see that our ending got success in S/R.

Let’s take a sample from the results of the 21 of September.

Date F/IR S/R
21% Sep 70 69
22" Sep 42 77

Now we will take the ending of F/R and add the next two numbers to it.

Here, F/R's ending is 0, so we will take two more numbers that come after 0. i.e.1 and 2. So our H/E for the next day would
be 1, 2.

As you can see, our result from September 22" was 2 in the ending. This is by far the easiest formula.

Formula no. 9

For this formula, we need the result from one day earlier. The following is the outcome of the third of September:

Date F/IR S/IR
3" Sep 00 74

Now we will combine the F/R and S/R of September 3rd with the next date. Since September 4™ is a Sunday, the game is off.

So we will calculate the game for the 5". So the calculation would be FR, SR, Date, Month, and Year.

Let’s combine:

>>>>>007405092022<<<<<
After that, start adding from the right side to the left until you reach a single digit.

Rules

« We will begin addition from the left and work our way to the right.

« Only write the ending of the outcome.

« While adding, if the outcome is 10 or greater, we will write the ending digit and give the house digit as a carry forward
and add in the next digit.

« Since we have to reduce one digit in every step, at the end of each step, if we get two digits, we will leave the house
and will write ending only. E.g., in 14, we will write 4 only.




007405092022
08145601224
8960161346
8560177480
41785228
5963750
560125
16137
7750
525
7 7 — Single
4 — House/Ending (Touch)

This way, we got 77 as ‘Single’. Now we will make the maximum number combination of 77 with its value, which is 2. So
how many combinations can we make with 77 and 2?

Let’s make a single. 77,27,72,22

And house/ending = 4[4

Formula no. 10

This is a pure mathematical formula. The formula is in two steps.

Step One
A+Y and X-B

Rules: While adding, if the outcome is 10 or greater, we will write the ending digit only.
Here, we need to know that:

A= F/R house

B = F/R ending

X=S/R house

Y= S/R ending

Now let’s take the result of September 3™ and put the values in the formula.

Date F/R S/IR
3" Sep 00 74

)
)
)
)
)
3
A0 )
B=0 )
%
%
Now, put the values into the formula.
A+Y=0+4=4 g
X-B=7-0=7 g
4™ September single is 47. g

Step Two

We got a single number, 47. Now we will take the value of both numbers and make the combinations.
Value of 4=9

Value of 7=2

Therefore, the combinations are:

47,74,49,94,72,27,42, 97
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